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1. B
1 Pa=1 N/m? 1 kgf = 9.80665 N
1 kgf/mm?2=9.80665 MN/m2=9.80665 MPa 1 atm=760mmHg=1013.25 hPa

2. Hooke ?i%Al

1 1
£, =E{ax—v(ay+az)} , Y :Eryz
£ —l{O' -v(o,+0,)} —ir
y E y z X > yzx G zx
1 1
82 _E{O-Z_V(O-x-i_o-y)} s }/xz _Erxy
F720E. (g°) —Lo" g =i
B O Te A "3k
ZZT. G= E = E
2(1+v) 3(1-2v)

3. Mises OREREH

— 3
Y=0=,-0.0)
g i

= \/5{(@ —0,) +(c,-0.) ' +(0o. -0, +6(r,) +7,. " +7.7)}

4. Tresca DR

1 Y
T =E(O-1 —0'3)=k=5

5. Levy-Mises Ozt

20

I, de= ‘/zdg,.”dg..p
3 y y

- g\/ {(de,” —de,") +(de,” —de.") +(de.” —de,”)’ +%{(d7xy”)2 +(dy,.") +(dy.")"

6. HESIED K UhFEEEY
do

— =0
de



